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1. A) A rescue team lifts an injured person directly upward by means of
a motor-driven cable. The lift is performed in three stages, each
requiring a vertical distance of 10.0 m:

1) The initially stationary person is accelerated to a speed of
5.00 m/s;

2) He is then lifted at the constant speed of 5.00 m/s;

3) Finally, he is decelerated to zero speed.

How much work is done on the 80.0 kg rescue by the force lifting
him during each stage (W5, Ws, W3)?
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B) In the figure below, particle 1 of mass m; = 0.40 kg slides right-
ward along an x axis on a frictionless floor with a speed of vy; =
2.0 m/s. When it reaches x = 0, it undergoes a one-dimensional
elastic collision with stationary particle 2 (vy; = 0) of mass mgy =

0.30 kg.

i Calculate the particle velocities v; s and

oodke w00k Wl vos after the elastic collision.
v“:zif Yu=0 ii After the collision, particle 2 reaches a
lo o2 wall at z,, = 3 m, it bounces from the
/-‘7//,4///7,4//A/ wall during which 36% of its kinetic en-
) t— x(m)  ergy is lost (turned into thermal energy).

0 ¥, =3m

At what position on the x axis does par-
ticle 2 collide again with particle 17
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2. A 10.0 kg block is released from point A in figure. The track is friction-
less except for the portion between B and C, which has a length of 6.00
m. The block travels down the track, hits a spring of force constant
k = 2250 N/m, and compresses the spring 0.25 m from its equilibrium
position before coming to rest momentarily. Determine the coefficient
of kinetic friction between the block and the rough surface between B
and C.
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3. A soccer player kicks a soccer ball of mass 0.45 kg that is initially at
rest. The foot of the player is in contact with the ball for 3.0 x 1073
and the force of the kick is given by

F(t) = [(6.0 x 10%)t — (2.0 x 10°)#*] N
for 0 <t < 3.0 x 1073 s, where ¢ is in seconds. Find the magnitudes of

i the impulse on the ball due to the kick,

ii the average force on the ball from the player’s foot during the
period of contact,

iii the maximum force on the ball from the player’s foot during the
period of contact,

iv the ball’s velocity immediately after it loses contact with the
player’s foot.
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4. The angular position of a point on a rotating wheel is given by 0(t) =
2.0 +4.0t2 +2.0t3 , where 6 is in radians and t is in seconds. At t = 0,

i what is the point’s angular position?
ii what is its angular velocity?
iii what is its angular velocity at t — 4.0 s?
iv Calculate its angular acceleration at t — 2.0 s.

v Is its angular acceleration constant? Why?
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5. A solid ball of radius R = 0.2 m and mass M = 3 kg is placed at the
top of a ramp of height h = 1.2 m and § = 37°. (Hint: I = 2mR?)

i If the ramp surface is frictionless, calcu-
late the velocity of the ball’s center of mass
(Ucom ) and its angular velocity (w ) at the
bottom of the ramp.

ii Calculate the minimum value of the co-
efficient of static friction () that would
cause smooth rolling (no slipping) of the
ball down the ramp. Calculate v, and w
at the bottom of the ramp for this case.
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1. A) A block, initially at rest, of weight W = 10.0 N is released from
the point A moving down an inclined plane with angle a = 53°. It
meets a spring with a spring constant k£ = 500.0 N/m at the point
C and compresses the spring a distance d = 10.0 ¢m stopping at
the point B momentarily. The surface has a coefficient of friction,
i between points A and C. There is no friction between C and
B. The distance between A and C, is L = 50.0 cm. Take g =
9.8 m/s>.

a Calculate p by using the work-kinetic
energy theorem.

b After stopping at B momentarily, the
‘B block bounces back and goes up on the
' . . .
incline some distance and stops. What
is this stopping distance measured from
the point C?
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B) Consider 'L’ shaped plate with uniform mass per unit area o.

a

a Find the center of mass, rcoas in unit
2a| 1 vector notation.
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2. A 5.0 g marble is fired vertically upward using a spring gun. The spring
must be compressed 8.0 cm, if the marble is to just reach a target 20 m
above the marble’s position on the compressed spring.

i What is the change (AU,) in the gravitational potential energy of
the marble-Earth system during the 20 m ascent?

ii What is the change (AUj) in the elastic potential energy of the
spring during its launch of the marble?

iii What is the spring constant of the spring?
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3. A 3.2 kg box slides on a horizontal frictionless table and collides with a
2.0 kg box initially at rest on the edge of the table, at height h = 0.40 m.
The speed of the 3.2 kg box is 3.0 m/s just before the collision.

If the two boxes stick together because of
packing tape on their sides, what is their ki-
netic energy just before they strike the floor?
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4. The angular position of a point on a rotating wheel is given by 0(t) =
2.0 +4.0t2 +2.0t3 , where 6 is in radians and t is in seconds. At t = 0,

i what is the point’s angular position?
ii what is its angular velocity?
iii what is its angular velocity at t — 4.0 s?
iv Calculate its angular acceleration at t — 2.0 s.

v Is its angular acceleration constant? Why?
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5. In Figure, a solid cylinder of radius 10 cm and mass 12 kg starts from
rest and rolls without slipping a distance L = 6.0 m down a roof that
is inclined at the angle 6 = 30°. (I = 1/2M R?)

i What is the angular speed of the cylin-
der about its center as it leaves the roof?

ii The roof’s edge is at height H=5.0 m.
How far horizontally from the roof’s

edge does the cylinder hit the level
ground?
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1. A) A 25 kg block slides into a spring with a spring constant of
320 N/m. When block stops, it has compressed the spring by
7.5 em. The coefficient friction between the block and the hori-

zontal surface is 0.25.

What is the block’s speed just as the
block reaches the spring?
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B) In Figure, a block of ice slides down
a frictionless ramp at angle § = 50° while an
ice worker pulls on the block (via a rope) with
a force F. that has a magnitude of 50 N and
is directed up the ramp. As the block slides
through distance d = 0.50 m along the ramp,
its kinetic energy increases by 80 J. How much
greater would its kinetic energy have been if
the rope had not been attached to the block?
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C) A force F = (cx — 322)# acts on a particle as the particle moves
along an x axis, with Fin newtons, x in meters, and ¢ a constant.
At z = 0, the particle’s kinetic energy is 20.0 J; at x = 3.00 m, it
is 11.0 J. Find c.
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2. Figure below shows an 8.00 kg stone at rest on a spring. The spring is
compressed 10.0 cm by the stone.

i What is the spring constant?

ii The stone is pushed down an additional 30.0
cm and released. What is the elastic potential
energy of the compressed spring just before that
release?

k iii What is the change in the gravitational potential
energy of the stone-Earth system when the stone
moves from the release point to its maximum
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iv. What is that maximum height, measured from
the release point?
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3. In Figure, a 300 g ball with a speed v of 6.0 m/s strikes a wall at an
angle 0 of 30° and then rebounds with the same speed and angle. It is
in contact with the wall for 10 ms. In unit vector notation, what are

i the impulse on the ball
from the wall,

¥ -
| v
ﬁ ; /la ii the average force on the

wall from the ball?
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4. In Figure, block 1 has mass m; = 460 g, block 2 has mass my = 500 g,
and the pulley, which is mounted on a horizontal axle with negligible
friction, has radius R—5.00 cm. When released from rest, block 2 falls
75.0 cm in 5.00 s without the cord slipping on the pulley.

In unit-vector notation, what are

R i What is the magnitude of the accelera-
tion of the blocks?
ii What are tension 75 and tension 777
h I iii What is the magnitude of the pulley’s
i angular acceleration?
o | "
iv. What is its rotational inertia?
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5. A solid ball of radius R = 0.2 m and mass M = 3 kg is placed at the
top of a ramp of height h = 1.2 m and § = 37°. (Hint: I = 2mR?)

i If the ramp surface is frictionless, calculate the ve-
locity of the ball’s center of mass (Ve ) and its
angular velocity (w ) at the bottom of the ramp.

ii Calculate the minimum value of the coefficient of static friction
(us) that would cause smooth rolling (no slipping) of the ball down
the ramp. Calculate v, and w at the bottom of the ramp for
this case.

iii If the coefficient of kinetic friction (uy) between the ball and the
ramp surface is 0.1 and it is known that the ball does not roll
smoothly down the ramp (there is sliding), calculate vy, and w
at the bottom of the ramp.
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1. (Kinetic Energy and Work) A 250 g block is dropped onto a relaxed
vertical spring that has a spring constant of £k = 2.5 N/em. The block
becomes attached to the spring and compresses the spring 12 ¢m before
momentarily stopping.

i \

What is the speed of the block just before it hits the
spring (assume that friction is negligible)?
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2. (Kinetic Energy and Work) An object having a mass of 1 kg, which
is initially at rest at point A, starts its motion along frictionless path
of A-C and finally, stops momentarily after it compresses the spring
(k=100 N/m) by x m. Take g = 10 m/s>.

4.0m

i

il

Find the compression distance, =,
if angle 6 of the inclined plane is
30° and the distance travelled on in-
clined plane, d, just before hitting
the spring is 1.0 m.

The object starts moving in opposite
direction after it stops momentarily.
What is the speed of the object just
after it starts its motion in opposite
direction?

iii Determine the final position of the object at the end of motion in op-

posite direction along path C' — A.

Answer: i) z = 0.5 m ii) v =5 m/s iii) A

0.
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P
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- Amg.Fmax
{0052 = po 4 40x 3 X =0 ia-0:4=0

(x+0.4)(x-0.5)=9

¥=0.5m




3. (Kinetic Energy and Work) Figure gives the acceleration of a 2.00 kg
particle as an applied force F, moves it from rest along an x—axis from
x = 0tox = 9.0 m. The scale of the figure’s vertical axis is set by

as = 6.0 m/s>.
How much work has the force done on
the particle when the particle reaches

a,
i x— 4.0 m,

x(M) & 70m

0

a (11'1/52)

iii What is the particle’s speed
and direction of travel when it

reaches z= 4.0 m.

—a

Answer: i) 42 J ii) 30 J iii) 6.5 m/s + z direction

il What is the avcrage and INstartanecs ARguar aCeelerarlon
for that time interval?

¢ + 26
+,’L%m‘b"k/f (4--1m)
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4. (Kinetic Energy and Work - 40%) A block of mass m = 2.0 kg is

dropped from height A~ = 40 cm onto a spring of spring constant k =
1960 N/m (See the figure below).

-

¥ Find the maximum distance the spring is compressed.

1
|
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\
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t4)
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5. (Kinetic Energy and Work- 40%) A 120 kg mass hangs by vertical rope
L = 3.5 m long as in Figure a. A person then displaces the mass to a
position d = 2.0 m sideways from its original position, always keeping
the rope taut, and holds it in this new position as in Figure b.

Pivot

Pivot
|
| I .
I } As the mass is moved
I __ to this position, how
I ?","»—"_"'F much work is done by
| 2
ym 7 the person?
~ —a—f
(a) (b)
Answer: 738 J
,\)\40( d=2.9m.
T 0 0 (Sm(e the mass starts and ends at mr—)
| L =35m Wot = }Z—%
m = 120 kj Wg:ovv + \2‘/_’_ 4 WF -0
AR U B
T O ( The fension in the repe is radrak and clisplacement s mn?f/mat
\\L“'};& _%‘ so there is No component oft T in the dlirechion in -the u.ﬁpl&(erm»:nf
cluring the motion and The fension in the rope cbes not work )

WF = - ngo\/ , stov = ""AL'?(O\(_ = Ui-U = mﬂ (ﬁ, —37_)
= mg [o-L (1-(03@)] , &= 5(0"( i) :smﬂ(_-l:l‘
L :

6 = 34.85°
= u.wkﬂ) (9.80 m/;L) [ ¢3.5m)(L-cos 3q.8€':)]

il

=738 J

[

35m



. (Kinetic Energy and Work- 40%) The spring of a spring gun has force

constant £ = 400 N/55 and negligible mass. The spring is compressed
6.00 cm, and a ball with mass 30.0 g is placed in the horizontal barrel
against the compressed spring. The spring is then released, and the
ball is propelled out the barrel of the gun. The barrel is 6.00 c¢m long,
so the ball leaves the barrel at the same point that it loses contact with
the spring. The gun is held so he barrel is horizontal.

i Calculate the speed of the ball as it leaves the barrel if a constant
resisting force of 6.00 NV acts on the ball as it moves along the

barrel.

ii. What is the greatest speed the ball have along the barrel if a
constant resisting force of 6.00 N acts on the ball as it moves

along the barrel?

Answer: i) 4.90 m/s ii)5.20 m/s

K = 400N/m
8 R Q00000
=

N

T

m=30g Ao = bem

me i)

_
N A

) £ o> Fpimg £= 600N
Wit = Kp *};/W

Wp + W _ . =y =3
¥ Feang = Lmv* , wps £ = - pxe

—fXo +LkXo = Lmw”
2 L
_ N 2 =3 a2
(bwoN) (0,06cm) 4 21 (400 Y\L/m) (o,%m) = }E ( 30x10 kﬁ) 19

[5=4.390 mfs |



7. (Potential Energy and Conservation of Energy) In the figure below, a
block slides along a track from one level to a higher level after passing
through an intermediate valley. The track is frictionless until the block
reaches the higher level. There a frictional force stops the block in a

distance d.

fe——d—

The block’s initial speed v is

% “:0\ h Hy,
— f 6.0 m/s, the height difference
his 1.1 m, and py is 0.60. Find
d.

Answer: d=12m
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8. (Potential Energy and Conservation of Energy - 40%) Consider the
track shown in Figure below. The section AB is one quadrant of a
circle of radius 2.0 m and is frictionless. B to C is a horizontal span
3.0 m long with a coefficient of kinetic friction p = 0.25. The section
CD under the spring is frictionless. A block of mass 1.0 kg is released
from rest at A. After sliding on the track, it compresses the spring by
0.20 m.

m

A = Determine the stiff-
r ness constant k for the
A spring.
B C 1°

Answer: 612 N/55

AUint = —Wether Alnt = Chonge in nternal energy.
Wether i The work. clne bd forces other than conservative H{orces (¢ 9rfgzm1)‘ddi
- K [41
AK+ AU +AUint = 0 (ow ef conservatron of Qnerjj) elastic. pice., . )
] ; ) 18
(Jo~JG0) + Cap=w) + (W ) =0, g = Lk,
D o)
ur = mgr
9, . g
Fpric. = FedX = Mk mg f[; =,
=

18cl
y !E)C] =0
ZLKMox - mgr + pHemg |
(9.80 m/_g.)(.lOm) -+ (0..23)(_L0k\9)('8-&0m/51) (3-Om) =

k= 6125 N

L Kk (020m)* — (40kg)
LK(OlOm) (40kg



. (Potential Energy and Conservation of Energy - 40%) A 2.00 kg ball is
attached to the bottom end of a length of rope with a breaking strength
of 44.5 N The top end of the rope is held stationary. The ball is released
from rest with the line taut and horizontal (0 = 90.0°). At what angle
(measured from the vertical) will the rope break?

Answer: 40.8°

i T prvor L F- = mar

2 ; . 3
Troox ~msccje» = Mg = Oi- (Tmox —mgcas&) Cat the
I m breaking J2siielly
£

Ei =t
i/#‘é/": Kp +up
(o) (o}

;im1@L+n13y , Y= —rcese

0 = _Lpﬁ(ﬁ(?mox ~—m§<‘o>€;)) = mgfcese-

2
0 = Tmo _ 3 mqcos& . B = cos [ Tmox
X/L L . '> jm9
N —
Temoy &= cos” (M
3 3. 200kg.9-§0m/a



10. (Center of Mass and Linear Momentum) A system containing three
objects, which is initially at rest, accelerates by the application of a
net force. Masses and time dependent position vectors of objects are
given as;

Find;

my =1 kg, my=3kg, ms=2_8kg i Position vector of system’s center of
mass, Teom, as a function of time,

ii Acceleration of the center of mass of
the system, acom,

~

=2+ (t—3
3 * )i iii Net force acting on the system, F},.;.

Answer: i) i = [(t2 — 3t 4+ 24)i + (8t — 16) 3] J121ii) Goom = /6 m /5>
iii) Foop =20 N

£) 9N R = mAmA
My-tmg+my
B = Ol -0i425] + @G0+ 2] 4@ 27+ 634
1+ 3+ %
% (2-3t+29) € + @t -14)]
rf_om = =
1.
- Y oy ) ~ 3
{4) Qeem = on = ££. 2 Lom/,
clt'.'_ 42 4 i /

)

— n o
3 iy 2 143 A
‘t"r:‘-}' F.-u.{: =M Qeam = Fi'|.e.l = EH' 1+8). -—*g 5 net
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11. (Center of Mass and Linear Momentum) The rigid body shown in figure
given below consists of three particles connected by massless rods. It
is to be rotated about an axis perpendicular to its plane through point

If M =0.40 kg, a = 30 cm, and b = 50 cm,
What is the rotational inertia about point

pP?

Answer: [ = 0.208 kgm?

£ M = 0.40 kg, a = 30 cm, and b = 50 cm,
What is the rotational inertia about point

h P?

@ @ @ ;,1 ~al

1 \ mml e+ 30
w W pgh = 1) 9
ool N AW
BER ] asat] aleie
. Mol = . 4

—
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12. (Center of Mass and Linear Momentum) A 3.2 kg box slides on a hor-
izontal frictionless table and collides with a 2.0 kg box initially at rest
on the edge of the table, at height h = 0.40 m. The speed of the 3.2 kg
box is 3.0 m/s just before the collision.

If the two boxes stick together because
of packing tape on their sides, what
is their kinetic energy just before they
strike the floor?

Answer: KE =29 J

Shieck % jﬁﬁ/é”““?@?’?’ é lntharle. colllsom

b o ;;’W
A'{)mr‘b?ré -m% @«;,wi %é 1’ g-dbrecoont.
Ve M ___gjé . g,y ffmpﬂm

Mt @y, 2l

il & e wiedl] WW(MM vt fave

p:’?&éé_ oA, /"ﬁaw/ wm:wﬁwﬁoﬁéz/mmé
A /gmgc , ?m_,m_f_m -
@ 5’*"/ f/wm/{/
')’?L"-*+ m‘qu, k, > Kb /6‘29)/},%)71-
(524) (2amf2) 0-40m
=2323 Q@

—_— e ——
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(Center of Mass and Linear Momentum) The mass m; =1.0 kg moving
with a speed vi = 5.0 m/s on a horizontal frictionless floor collides with
a mass my = 2.0 kg initially at rest. After the collision, m; moves at a
speed vir = 3.0 m/s and my moves at a speed vy along the directions
shown in the figure.

i Find the speed vyr of my after the collision.

ii Is this collision elastic or not? Prove your

my vy m; answer.
iit* Find the velocity of the center of mass of the
system after collision. Give your answer in
Betore coll After coll. terms of unit vector notation.

iv Find the impulse delivered to m; during the collision. Give your answer
in terms of unit vector notation.

Answer: i) vy = 2.0 m/s ii) Inelastic iii) G.om, = 5/3 m/s i iv)

Ji = (3.2 + 2.45) kgm/s

5 a) Find the speed var of my after the collision. (o)( 29 @ o\ -1
= =% /%5{ 7
T+ 003 ;:m\@p—\‘ﬁ;\?@ 200«17
0
A-CemPmaeatg
- 4 ) 5T =
G it St P P EBEO
T Bn cleste wliision  LE s conservest ‘ﬁﬁih n&; j::t
Syl & Qesfe. B is
B L gl = 1(0) (= WT= 29T e wllisien
535

s L_.
g 23 oy - SN @0 IS S

#) ) Find the velocity of the center of mass of the system afler collision. Give your answer in terms

of unit vector notation. Ueom, 1) (3.0) s\ r\’)S—Q' (Q9siad?
© Bt 0, O kN
- T + P
o, = S0 Pt MyBag v \f_} _ aamjs
ANy, = =
= (Y
(2.0 co553+Q-8)(A-C)con I+ 6’%.\ = M
LM;( &&/—/—‘ oA
M
Gy a ozl d “&i“\é/ﬁ&
Sx = 5 im /s 50
2 o
5 d) Find the impulse delivered to m; dunn g the collision. Give your answer in terms of unit vector
notation.
?> = .
= ’ﬁ‘\ = 3. LU 18T —

?‘%x=m“&“§ == Q@éa)@é»& %kjws e T s
T j__g“;llu

Pﬂg%_ gy ~(1.0)(2.0) a5 s\ml o q o] ¢

Py = ma by = 0) (59 = SO%”‘/S L{ 4
?\M ©
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14. (Rotation) The angular position of a point on the rim of a rotating
wheel is given by 0 = 4.0t + 3.0t> + ¢3, where 0 is in radians and ¢ is in
seconds. What are the angular velocities at

it=2.0sand t = 4.0s,
ii. What is the average and instantaneous angular acceleration for
that time interval?

Answer: i) w(t = 2.0 s) = 28 rad/s w(t = 4.0 s) = 76 rad/s ii)
24 rad/s*

28 radls W

) 6= Lok ¢ 30t U
2 ad/s (0

s { fez.0g = wlED =
4.) wﬁ%’éﬁ - L0t (.04 4 %—f@ (1&:_4_05 5 wailbsl 5) =

wlbats) ~wleets) _ 49 24 cadfs .
= _'_'_'_,_,—-—'_'_'_'_'_‘_. b .
clva-—- L!.L’J.- i j —
: T4 gf@(é"’ /_'_SL gﬁ?‘!‘“g:z%
Dd o GLUJ o= E'Oﬁ(/—(—é.{}f ﬂ o{({--ﬁqs); S —
de

@ sy = Vi cedds®

05

) 8
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15. (Rotation) In figure, two 6.2 kg blocks are connected by a massless
string over a pulley of radius 2.40 ¢m and rotational inertia 7.40 x
10~* kg.m?2. The string does not slip on the pulley; it is not known
whether there is friction between the table and the sliding block; the
pulley axis is frictionless. When this system is released from rest, the
pulley turns through 0.650 rad in 91.0 ms and the acceleration of the
block is constant. What are

i the magnitude of the pulley’s angular ac-
celeration,

ii the magnitude of either block’s acceler-
ation,

iii string tension T4,

iv string tension T5?

Answer: i) 157.0 rad/s ii) 3.8 m/s* iii) T} =374 N iv) T, = 32.6 N

_’6 v
- w e 2
Q=12
‘219\;2-'0 Haure : ,L 1 _Eif?

-0 =Rl@ la

» Oppy Mewloa's and Low fo M & Mo & disk iBhoe 0 =const

e F]
F\i"}\'\\’)@_q—*"—l‘m-ﬂ. @ B "'%“4" @
Y i @ 0eSmd ¥ i ;_: s 002108
Foe d“"‘“’

. L)

m
D D2y m

i Fieom 2 T= MG~ M A
@ - Ti=(pa }*(ggw;q @Zkg)r( s

Ti= 60F6— BS66
2(M=12 N

i@ﬁhm@*’hﬂ: ~Ta. & = T .0bs

A0 9 nq--r,;oﬂq-
34
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tension 1,7

—_ ;Tm_z_a'z.
MJ:]-—,G =
@ “T‘L) K.: ‘J‘_GL.
| { Ag = 0,650 8
(7 bt =T nS
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16. (Rotation - 40%) In figure, a wheel of radius 0.20 m is mounted on
a frictionless horizontal axle. A massless cord is wrapped around the
wheel and attached to a 2.0 kg box that slides on a frictionless surface
inclined at angle § = 20° with the horizontal. The box accelerates
down the surface at 2.0 m/s%.

What is the rotational inertia of the wheel
about the axle?

What is the rotational inertia of the wheel
about the axle?

17



17. (Rotation - 40%) The reel shown in Figure has radius R = 0.300 m and
moment of inertia I = 1.00 kg.m2. One end of the block of mass m =
0.500 kg is connected to a spring of force constant & = 50.0 N/55, and
the other end is fastened to a cord wrapped around the reel. The reel
axle and the plane having an inclination of 6 = 37° are frictionless. The
reel is wound counterclockwise so that the spring stretches a distance
d = 0.200 m from its unstretched position and is then released from
rest.

Find the angular speed
of the reel when the

k . . .
spring 1S agaln un-
stretched.

(7]
Answer: 1.74 rad/s
R=o0.300m N
I=100 kgm* R/QK .
M = 0.500 kg [ h \ N Alinitial
K =3p0.0 N/rﬂ J :%d S )®(Q 2
d = 0200m ly=om A 64;\{ Y,
) < % (;-(7 /
& =37 | oY
= E+_
p/‘f Ui = Kp+up
o -

2 e Tw* - RW, x=d
mg(oj&rlo):imlr *}léd 4—i~iu“) fi_KX J L ez et

mgdsing = i_mRLuJL +ATwW 4 i ko*
Py

W = ( 2 mgdlsng -+ K%Li)"/z,

I +mR*

2, ’I/L
w = < 2 W-‘)UOKQ)(;?'5@JEE/SL)(’.’,'JUQ,IT,’,),@éﬁ* (QD'O‘V/m)((EﬂYL)——)

(1.00kgm*) + (0500 kg). (0.300m)"
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18. (Rotation - 40%) A m; = 15.0 kg object and a my = 10.0 kg object
are suspended, joined by a cord that passes over a pulley with a radius
of R =10.0 cm and a mass of M = 3.00 kg as seen in the Figure.

The cord has a negligible mass and does
not slip on the pulley. The pulley rotates
on its axis without friction. The objects
start from rest d = 3.00 m apart. Treat
the pulley as a uniform disk, and deter-
mine the speeds of the two objects as they

g pass each other.
Hint: Iy = %MR2

Answer: 2.36 m/s

=i5.0k9 AK + AU =0

ms.= J/ =0
R e O (_L(mHmL)LQL.riIuJL—O>+(’m'3d/)_, ’f'mﬁd/L>

al = 3.00m \b/ L % — —

/_—_/ . i

M = 3.00kg e K Augovy — Augrorz

R =ip.oom. ’C
=1 MR* =

T = R w L»S/P\

- (m\—mz_)

L (my+my) VE 4 (,_’]_Mﬁ/L)

= d
R x

U:< gd (mi—mz) Yo,
Cny-tMa) + M

= < (S<SOM/JL) (300"‘7) ( 15’0%_9_&0;0 kj) 1/1: _ @
(15.0kg+10.0kg) + (3.00k9)
2
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19. (Rolling, Torque, and Angular Momentum) A hollow cylinder of outer
radius R = 5 em and mass M = 50 g with moment of inertia about
the center of mass I.,, = M R? starts from rest and moves down an
incline tilted at an angle # = 20° from the horizontal. The center of
mass of the cylinder has dropped a vertical distance h = 30 ¢m when
it reaches the bottom of the incline. The coefficient of static friction
between the cylinder and the surface is pus. The cylinder rolls without
slipping down the incline. Answer: i) p, > 0.18 ii) v = 1.7 m/s

i What is the minimum value for the coef-
ficient of static friction u, such that the
cylinder rolls without slipping down the
incline plane?

ii. What is the magnitude of the velocity of
the center of mass of the cylinder when
it reaches the bottom of the incline?

um value for
c friction

mur of mass of the

tom of the 11”r:hnc7

\WMQ

=> Mgsing — mal =mMat- Nloml<®
=1lmls
ST L G >@

'Fﬁ/ m/\(f( > = e 4 gsme‘——OOE 9.2sin20

e s g
%g no 5\\(>(>1ﬂ9 j&%

5 rollt without s\
o r\g 4m9/SlY‘\9‘<L}AS %w&@‘

0.18
= (Ms> 3 wWG%@

o
) uf_/,:WHiwa Uy =Vgh
4
DQ“ “”‘5? ;w_ﬂ Cr = /o803
i e
={(9p = 1. Fm!S
(512 3 L
e 4 Al s 2)
> e ’Ew@r 27{4
E - e Gt Lk =
D\fwﬁ:'g\lk‘ g(j R’ 005 %‘%
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20. (Rolling, Torque, and Angular Momentum - 40%) In figure given below,
a constant horizontal force ﬁapp of magnitude 12 N is applied to a
uniform solid cylinder by fishing line wrapped around the cylinder.
The mass of the cylinder is 10 kg, its radius is 0.10 m, and the cylinder
rolls smoothly on the horizontal surface. (Hint: Iooy = %MR2)

i What is the magnitude of the accelera-
- tion of the center of mass of the cylinder?

5T
. ii. What is the magnitude of the angular
Fishing linc

. acceleration of the cylinder about the
center of mass?

=

iii In unit-vector notation, what is the fric-
tional force acting on the cylinder?

—_— HpmrE T A oL ﬁpp
= ; ,
g(:ﬂ) E’;p?..‘lf\/ cw %MMW (a8 ou 040/(&_/} A ,_Fm
M=lo kg <) Tp=Tcum PR L Me eme- 3 3 @
R 0"OM 'F

K= Tapp _ 4 (2N)
5 MR 3 [1olg)(0-lom)

.frb) =14 r‘au.‘{/;l‘
) L7 Fﬂo@ma(p f;w Q,%q

lz-.psmeau " 1/53’ ,c;,/\/»?.‘
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21. (Rolling, Torque, and Angular Momentum - 40%) The radius of the
roll of paper shown in Figure is 7.6 ¢m and its moment of inertia is
I =3.3x1073 kg.m?. A force of 2.5 N is exerted on the end of the roll
for 1.3 s, but the paper does not tear so it begins to unroll. A constant
friction torque of 0.11 m.N is exerted on the roll which gradually brings
it to a stop.

Assuming that the paper’s thickness is
4 negligible, calculate

i the length of paper that unrolls dur-
/‘) ing the time that the force is applied
&/ ' (1.3 s) and

@ ! ii the length of paper that unrolls from
i the time the force ends to the time
when the roll has stopped moving.

Answer: i) 1.56 m ii)1.13 m

(4 L\S,t R A6 ,
the 0r\9u104’ acceleratron s conotont,
and so condtont acceleration felatronship

con be wed.

A®, = Y Tt + ji@‘tf

o

Take Clockwise terques as pasifive..
wirle Newtons second - law, for— the
rotatronal moton!

) U =Ty

ER — (Z:{\‘— =T — xy=

: I
As,= R (_f (EL’TF_") t]l) = (0.0%6m) L ((2 SN)(0.076m) — (0.1 Nerm) ) (1.3 5)"
= L 33x19% kg.m*

FR—"Cpr

it. Now the exfernal force removed , but the frctronal  torque is still present

FR— _ L(25n)(0.0%6m)— (o‘,,,\)@)_'] (4.35) = 31.5i5 rad A
Wy = Wi +x4tq = (M" t = 2 ! /
L 3.3x10” kg-m
c -
+he nitial angu'or ve(oc?g is the final angular \/5|o(:l‘j the motron in Part Ct)

LT =TI,
—ZFF: Ty

2 2
&éf:w, + 2A8, <
(@)

o.1l N'm
© 0 = (3.515radfs)" +2 86 (-

3.3x10 *kg-m*

.':V-VEE .
ETT 1 ag = RA8, =(00vem) (1307 = [1237]

’ Ag, = 14.90 rad.
|

)\9
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22. (Rolling, Torque, and Angular Momentum - 40%) A 500 g bird is flying
horizontally at 2.24 m/s, not paying much attention, when it suddenly
flies into a stationary vertical bar, hitting it d = 25.0 cm below the
top as seen in the Figure. The bar is uniform, [ = 0.750 m long, has a
mass of 1.50 kg, and is hinged at its base. The collision stuns the bird
do that it just drops to the ground afterward (but soon recovers to fly

happily away).

What is the angular velocity of the bar

T B
. d .. S 1. .
Bid ] i just after it is hit by the bird, and
v ii just as it reaches the ground?
Hint: For long thin rod the moment of
, inertia about an axis through end is Iy, =
Hinge 1MR2
3

Answer: i) 2.00 rad/s ii) 6.58 rad/s

') Angular  momentum s conserveo| TN the llisron

between +he bird and <the bar !

L = LF
ml‘*(L‘d) — (_]__M)_'L w ({‘Qr 1he OXis Qf‘hnﬂ%,)
3
W= 3m\S (L-d) = 3(esk )(:11‘1“’,/,&99;7?0’”‘Cﬁom)
ML* (1.5kg) (0. 750m)*

) W = 2.00 r‘od/S7
TPy )

17) Ener% s conserved in -the motron of the bar ofte—the collisron
E) = Ey
2

b 1
_)IL(ML'?— Mg L = “LI‘UL / I::&LML
2 2 A

B ) e = S ()

T
UJL = m = jfa;,;) rOd/f )L -+ ..—3_(9_8:/.“_”_‘3_2 = 668 rud/s ‘
\ LN (ods50m)
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1. A) A force F = (cx — 322)& acts on a particle as the particle moves
along an x axis, with Fin newtons, x in meters, and c¢ a constant.
At z = 0, the particle’s kinetic energy is 20.0 J; at x = 3.00 m, it
is 11.0 J. Find c.

quFa’oo fFa/x f(cx-3x)c/x

---x ’L3! = d.8C~ 2.-?'0
W= OK <Ky k=t 20=-95 @

= 4.5c-27=-9 ~> m

ad @




B) You drop a 2.00 kg physics book to a friend who stands on the
ground at distance D=10.0 m below. If your friend’s outstretched
hands are at distance d=1.50 m above the ground (see Figure),

i How much work Wg does the gravita-
tional force do on the book as it drops
to her hands?

ii What is the change AU in the gravi-
tational potential energy of the book-
Earth system during the drop?

If the gravitational potential energy U of that
system is taken to be zero at ground level,

iii what is U when the book is released?

iv what is U when it reaches her hands?

v Now take U to be 100 J at ground level
and again find Wg, AU, U at the release
point, and U at her hands.

=y

Z) M/;q = g .02,,_- ﬂéf C’ZG’&T &\ d-10m—1-Sm= -Sm
:(1?)/ %ﬁ%z)g’.sm[bjo‘ Bt

R

) 2t :{zz;;jzw: 3l ) X timp) 05w tow)

7, Uy = ", ,(z? )/?ra’méz) fOw="98T 4 "V) 27
v) Wy -1677 , AU=-16%], 74"@%‘*"(’”
= 23567
74-._./77@—_,;/00;7

=7/297




2. A rod of length 30.0 cm has linear density (mass per length) given by
A = 50.0Z 4 20.0zZ where x is the distance from one end, measured
in meters.

i1 What is the mass of the rod?

ii How far from the x = 0 end is its center of mass?




3. A soccer player kicks a soccer ball of mass 0.40 kg that is initially at
rest. The foot of the player is in contact with the ball for 2.0 x 1073
and the force of the kick is given by

F(t) = [(12.0 x 10)#* — (4.0 x 10")*] N
for 0 <t <2.0x 1073 s, where ¢ is in seconds. Find the magnitudes of

i the impulse on the ball due to the kick,

ii the average force on the ball from the player’s foot during the
period of contact,

iii the maximum force on the ball from the player’s foot during the
period of contact,

iv the ball’s velocity immediately after it loses contact with the
player’s foot.

J

) I=7 mpu.»[g. fay =73 B o8 g:) —jFTtJa“ ﬁ‘;#ﬂ‘bh!ﬁ’ézjd&

M'o“;za* —a;j 2xlo%> %j.ééj -?w‘fﬂxy‘;) -i-xﬂ’("?";“’jé‘g”;‘;i
mﬁm= fov e & s Caacy), X0,

305107 jm o
Fi)ofBox -2 me‘J*’] Y, A.f.;b e porac of contack
Mw—;id Ff{m-v&‘xﬂ 4s80%nG ape LEXD S
i

k%:ﬁ‘r'F(&f SN e ddD T, rﬁu)-z"‘mf"”ﬂ)

Mol ‘/ﬂ m "\f:“
,{,(/)m;?u“pﬁﬂn‘gd i+ i T
077 =it AR > dpamis =3 5 ‘*’T-ram'”é’?’?



4. The angular position of a point on a rotating wheel is given by 0(t) =
2.0 +4.0t2 +2.0t3 , where 6 is in radians and t is in seconds. At t = 0,

i what is the point’s angular position?
ii what is its angular velocity?
iii what is its angular velocity at t — 4.0 s?
iv Calculate its angular acceleration at t — 2.0 s.

v Is its angular acceleration constant?

Ol = 247+ 44 2
) at 0, olf)= 2 wd_ @)
i) w(é)wéy{f?,_ré hg ab 0, /@5@
) Loy f\-aw(éré):f{aé +x~4:ffz-fm¢/7 @
Lm.), wui) 12648 ;;zﬁzfﬂ;,wc(zfﬂ Blwf/-’f

) ok hui ﬂémz, Wg apNo7 mwém{ @



5. A uniform ball, of mass M = 6.0 kg and radius R, rolls smoothly from
rest down a ramp at angle 6 = 30.0° (see Figure, I = 2M R?)

i The ball descends a vertical height h =
1.20 m to reach the bottom of the ramp.
What is its speed at the bottom?

ii. What are the magnitude and direction
of the frictional force (fs) on the ball as
it rolls down the ramp?

<) Bl 75

M=6
l?‘:é g?_ NE\;—@% & pot work,
om 5
h=h2

% 75 mﬂﬂf/ad/y@/‘ e 4l en
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